
  

NOVEMBER 2021 60511/BYA5C/CYA5C 

Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  

Answer any TEN questions. 

1. Define the term ‘Assessee’. 
 ©v¨¥miØS›¯Áº GßÓ £uzøu Áøμ¯Ö. 

2. What do you mean by ‘Assessment year’? 
 ©v¨¥mk Bsk £ØÔ }Âº AÔÁöußÚ? 

3. Write a short notes on ‘Residential status’. 
 Si°Ö¨¦US›¯ {ø» £ØÔ ]Ö SÔ¨¦ ÁøμP. 

4. What is incidence of tax? 
 Á¸©õÚ Á›Âv¨¦ GßÓõÀ GßÚ? 

5. What is profit-in-lieu of salary? 
 \®£ÍzvØS ©õØÓõÚ »õ£[PÒ GßÓõÀ GßÚ? 

6. Mr. B retires form ABC Ltd. On 30.04.2020. He received 
Rs.12,000 p.m. as pension during the year 2020-21. Compute the 
taxable pension. 

 v¸. B Gß£Áº ABC ¼ªömi¼¸¢x 30.04.2020 AßÖ £o{øÓÄ  

ö£ÖQÓõº. 2020&21 A® BsiÀ Kº ©õuzvØS ¹.12,000 K´ÄPõ» 

Fv¯©õP ö£ÖQÓõº. Á›ÂvUP uUP K´Äv¯zøu PnUQkP.  

7. Calculate taxable HRA from the following. 

 Salary – Rs.12,000 p.m. 

 D.A. @ 20% of salary. 

 HRA Rs.800p.m.  

 Rent paid for house Rs.1,000 p.m. (House in Trichy) 

 RÌÁ¸ÁÚÁØÔ¼¸¢x Á›ÂvUPuUP Ãmk ÁõhøP £i°øÚ 

PnUQkP. 

 \®£Í® & ¹. 12,000 Kº ©õuzvØS,  

 APÂø»¨£i \®£ÍzvÀ 20% BS®. 

 ÃmkÁõhøP£i J¸ ©õuzvØS ¹.800 

 ÃmkØS ÁõhøP ö\¾zv¯x ¹.1000 J¸ ©õuzvØS  

(Ãk v¸a]°À) 
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8. Define Gross Annual Value (GAV). 

 ö©õzu Bsk ©v¨¦ Áøμ¯Ö. 

9. Find out the GAV: 
 Rs. 

Municipal value 1,20,000 
Fair rent 1,30,000 
Standard Rent 1,10,000 
Actual rent 1,26,000 

 ö©õzu Bsk ©v¨ø£ PnUQkP. 

 ¹. 
|Pμõm] ©v¨¦ 1,20,000
{¯õ¯©õÚ ÁõhøP 1,30,000
{ø»¯õÚ ÁõhøP 1,10,000
Esø©¯õÚ ÁõhøP 1,26,000

10. State any four inadmissable expenses. 

 AÝ©v ©ÖUP¨£k® ö\»ÄPÒ H÷uÝ® |õßQøÚ SÔ¨¤kP. 

11. What is PAN? 

 PAN GßÓõÀ GßÚ? 

12. List out the types of assessment. 

 ©v¨¥kPÎß ÁøPPøÍ¨ £mi¯¼kP. 

SECTION B — (5  5 = 25 marks)  

Answer any FIVE questions. 

13. Describe the essentials features of incomes. 

 Á¸©õÚzvß CßÔ¯ø©¯õu ]Ó¨¦PøÍ ÂÍUSP. 

14. Compute Gross total income of Mr.X if he is 
 (a) Resident 
 (b) Non ordinarily resident 
 (c) Non-Resident 

  (1) Salary received in India Rs.60,000 

  (2) Income earned in India, received in London Rs.7,000 

  (3) Income from business in Iran, but  controlled and 
managed from India Rs.13,000 

  (4) Income from house property in Nepal Rs.5,000 

  (5) Income of 2008-2009 in USA now brought to India 
Rs.10,000 
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 v¸. GUì AÁºPÒ  

 (A) Si°¸¨£Áº 
 (B) ÁÇUP©ØÓ {ø»°À Si°¸¨£Áº 
 (C) Si°¸¨¦ØÓÁº GßÓ {ø»PÎÀ ö©õzu Á¸©õÚzøuU 

PnUQkP. 
  (1) C¢v¯õÂÀ ö£ØÓ \®£Í® & ¹.60,000 
  (2) C¢v¯õÂÀ Á¸©õÚ® Dmi¯x, C»shÛÀ ö£ØÓx 

¹.7,000 
  (3) DμõÛÀ öuõÈ¼À ö£ØÓ Á¸©õÚ®, BÚõÀ 

C¢v¯õÂ¼¸¢x ÷©»õsø© ©ØÖ® Pmk¨£kzv¯x 

¹.13,000 
  (4) ÷|£õÎ¼¸¢x ö£ØÓ Ãmk Á¸©õÚ® ¹.5,000 
  (5) Aö©›UPõÂÀ 2008&2009À Dmi¯ Á¸©õÚ® 

uØö£õÊx C¢v¯õÂØS öPõskÁμ¨£mhx ¹.10,000 

15. Compute salary income from the following. 

 (a) Salary @ Rs.6,250 p.m. 

 (b) D.A.@ Rs.3,000 p.m. (50% enters for retirement benefits) 

 (c) Commission @ 2% on turnover of Rs.8,00,000 

 (d) Bonus Rs.6,000 

 (e) PF Contribution by employer and employee @ 14% of basic 
salary, DA for service benefits. 

 (f) Interest credited during the year in PF is @ 11% being 
Rs.5,500. 

  Calculate Salary income if provident fund is RPF. 

 RÌÁ¸® ÂÁμ[PøÍU öPõsk \®£Í[PÎ¼¸¢x Á¸©õÚzøuU 

PnUQkP. 

 (A) \®£Í® Kº ©õuzvØS ¹.6,250 

 (B) APÂø»¨£i J¸ ©õuzvØS ¹.3,000 (50% K´Åv¯ 

£¯ß£õmiØS AÝ©vUP¨£kQÓx) 

 (C) ÂØ£øÚ ¹.8,00,000À 2% uμS AÎUP¨£kQÓx. 

 (D) FUPzöuõøP ¹.6,000 

 (E) ÷\©|» {v £[PÎ¨¤À öuõÈ»õÍº ©ØÖ® öuõÈ»õÎ 14% 

Ai¨£øh \®£Í®, APÂø»¨£i°À AÎUP¨£kQÓx. 

 (F) |h¨¦ BsiÀ ÷\©|» {v°À 11% ¹.5,500& Ámi ÁμÄ 

øÁUP¨£mkÒÍx. 

  ÷\©|» {v, A[RP›UP¨£mh ÷\©|» {v GÚU öPõsk, 

\®£Í[PÎ¼¸¢x Á¸©õÚzøu PnUQkP. 
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16. Mr. X is working in a Central Government office at Simla his 
salary particulars are as follows: 

 Rs. 

Salary 72,000

DA (Enters into retirement benefits) 48,000

Hill compensatory allowance 12,000

Transport allowance 9,600

Provided with a rent free house : 

Annual licence fee 7,200

Cost of furnising 45,000

 Calculate value of rent free house. 

 v¸. X Gß£Áº ]®»õÂÀ EÒÍ ©zv¯ Aμ_ A¾Á¾PzvÀ 

£o¦›QÓõº, AÁ¸øh¯ \®£Í ÂÁμ[PÒ ¤ßÁ¸©õÖ. 

 ¹. 

\®£Í® 72,000 

APÂø»¨£i (K´Åv¯ £¯ßPÐUS AÝ©vUP¨£kQÓx) 48,000 

SßÖ Dmk¨£i 12,000 

÷£õUSÁμzx¨£i 9,600 

ÁõhøP¯ØÓ C»Á\ Ãk ÁÇ[P¨£mhx  

Bsk E›ø© Pmhn® 7,200 

©øÚ¯o¯[PÒ AhUP® 45,000 

 ÁõhøP¯ØÓ C»Á\ Ãmiß ©v¨ø£ PõsP. 

17. Compute the annual value from the particulars given below: 

 Rs. 

Municipal Rental value 84,000

Fair rental value 90,000

Standard rent 87,000

Real rent 8,000 p.m.

Unrealised rent 4,000

Date of completion 31.07.2019

Date of letting 1.10.2019
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 RÌUPõq® ÂÁμ[PøÍU öPõsk Bsk ©v¨ø£ PnUQkP. 

 ¹. 
|Pμõm] ÁõhøP ©v¨¦ 84,000
JÊ[PõÚ ÁõhøP ©v¨¦ 90,000
{ø»¯õÚ ÁõhøP 87,000
Esø©¯õÚ ÁõhøP & Kº 

©õuzvØS 

 

8,000

øPÁμ¨ ö£Óõu ÁõhøP 4,000
{øÓÄö£ØÓ ÷uv 31.07.2019
ÁõhøP Âmh ÷uv 1.10.2019

18. From the following profit and loss account, compute business 
income for the assessment year 2021-22. 

 Rs.  Rs. 
To salary 6,500 By gross profit 36,750 
To bad debts 1,700 By commission 1,250 
To provision for bad debts 3,000 By discount 500 
To Advertisement 3,800 By sundry receitps 200 
To Insurance (HP) 550 By rent of building 3,600 
To General expenses 2,750 By profit on sale of investment 3,000 
To depreciation 1,200   
To interest on investment 1,300   
To int. on bank loan 2,000   
To net profit 22,500   
 45,300  45,300 

  Depreciation allowed Rs.1,000 only 

 RÌPõq® C»õ£&|mh PnUøP öPõsk ©v¨¤mk Bsk 

2021&22ß Â¯õ£õμ Á¸©õÚ[PøÍ PnUQkP. 

 ¹.  ¹. 
\®£Í® 6,500 ö©õzu C»õ£® 36,750 
ÁμõUPhß 1,700 uμS 1,250 
ÁμõUPhß JxUS 3,000 uÒÐ£i 500 
ÂÍ®£μ® 3,800 Cuμ Á¸©õÚ[PÒ 200 
Põ¨¥k (Ãk) 550 Pmih ÁõhøP 3,600 
ö£õxa ö\»ÄPÒ 2,750 •u½k ÂØÓvÀ C»õ£® 3,000 
÷u´©õÚ® 1,200   
•u½k «x Ámi 1,300   
Á[Q Phß «x Ámi 2,000   
{Pμ C»õ£® 22,500   
 45,300  45,300 

 ÷u´©õÚ® AÝ©vzux & ¹.1,000 ©mk®. 
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19. Describe the powers of Central Board of Direct Taxes. 

 ©zv¯ ÷|μi Á› Bøn¯zvß AvPõμ[PøÍ ÂÁ›. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

20. Explain any ten exempted incomes u/s 10 of the income tax act 
1961. 

 Á¸©õÚ Á›a \mh® 1961 ¤›Ä 10ß RÌ H÷uÝ® £zx Á›Â»US 

ö£ØÓ Á¸©õÚ[PøÍ ÂÍUSP. 

21. Compute salary income of Mr. Sachin from the following: 

 (a) Salary received (after deduction of income tax and RPF) 
Rs.1,00,000 

 (b) RPF deducted – Rs.12,000 

 (c) Income tax paid - Rs.10,000 

 (d) DA @ 20% of salary 

 (e) Bonus – Rs.15,000 

 (f) Leave salary – Rs.13,000 

 (g) House Rent allowance Rs.1,000 p.m. (The rent paid for 
house in Chennai Rs.1,300 p.m.) 

 v¸. \a]ß AÁºPÎß RÌPõq® Â£μ[PøÍU öPõsk \®£Í 

Á¸©õÚ[PøÍ PnUQkP. 

 (A) \®£Í® ö£ØÓx (Á¸©õÚ Á› ©ØÖ® A[RP›UP¨£k® 

÷\©|» {v ¤izu ¤ÓS) & ¹.1,00,000 

 (B)  A[RP›UP¨£mh ÷\©|»{v¨ ¤izu® ¹.12,000 

 (C) Á¸©õÚ Á› ö\¾zv¯x ¹.10,000 

 (D) \®£Ízv¼¸¢x 20% APÂø»¨£i 

 (E) FUPzöuõøP ¹.15,000 

 (F) Âk¨¦ Fv¯® ¹.13,000 

 (G) Ãmk ÁõhøP¨£i & J¸ ©õuzvØS  & ¹.1,000 (Ãmk ÁõhøP 

ö\ßøÚ°À EÒÍ ÃmiØS ö\¾zv¯x Kº ©õuzvØS ¹.1,300 

BS®) 
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22. Mr. Landlord is the owner of two houses. In respect of these he 
has furnished the following particulars: 

  House A
Rs. 

House B 
Rs. 

(a) Rate of completion of construction 31.3.1996 01.07.2000 

(b) Municipal rental value 3,60,000 6,00,000 

(c) Actual rent received 3,00,000 60,000 p.m. 

(d) Municipal taxes paid 36,000 30,000 (Due) 

(e) Ground rent 1,000 7,800 

(f) Interest on loan taken for construction 50,000 1,82,000 

 Compute his income from house property for the assessment 
year 2021-22. Out of the municipal tax of House A. Rs.18,000 are 
paid by the tenant. 

 v¸. {»UQÇõº Gß£Áº Cμsk ÃkPÎß E›ø©¯õÍº BÁº. AÁº 

RÌPõq® Â£μ[PøÍ AÎUQÓõº. 

  Ãk A 
¹. 

Ãk B 
¹. 

(A) Pmih ÷Áø» •izu ÷uv 31.3.1996 01.07.2000 

(B) |Pμõm] ÁõhøP ©v¨¦ 3,60,000 6,00,000 

(C) Esø©¯õÚ ÁõhøP ö£ØÓx 3,00,000 60,000  
Kº ©õuzvØS 

(D) |Pμõm] Á› ö\¾zv¯x 36,000 30,000 (£õUQ) 

(E) {» ÁõhøP 1,000 7,800 

(F) Pmk©õÚ PhÝUPõÚ Ámi 50,000 1,82,000 

 Ãk.A ÂØPõÚ |Pμõm] Á› ¹. 18,000 I ÁõhøPUS C¸¨£Áº 

ö\¾zvÚõº Á›Âv¨¦ Bsk 2021&22US Ãmka ö\õzv¼¸¢x 

Á¸©õÚzøuU PnUQkP. 

23. Mr. Narayanan is a medial practitioner in Chennai. From the 
following calculate his income from profession for the 
Assessment year 2021-22. 

  Rs. 

(a) Gross receipts from dispensary 2,35,000 

(b) Gross receipts from consultancy 1,65,000 

(c) Operation fees 2,50,000 

(d) Visiting fees 50,000 

(e) Gift from patients 30,000 
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  Rs. 

(f) Medicines purchased 1,25,000 

(g) Closing stock of medicine 35,000 

(h) Opening stock of medicine 10,000 

(i) Salary to employees 1,50,000 

(j) Dr. Narayanan went to attend a medical seminar in 
Germay to update knowledge and spent Rs.65,000 on it 

 

(k) Medical books purchased 20,000 

 hõUhº . |õμõ¯nß ö\ßøÚ°À J¸ ©¸zxÁ £°Ø]¯õÍº BÁõº. 

©v¨¥mk Bsk 2021&22US RÌÁ¸® Â£μ[PøÍ öPõsk, 

A¾ÁÀ \õº¢u öuõÈ¼ß Á¸©õÚzøuU PnUQkP. 

  ¹. 

(A) iìö£ß\›°¼¸¢x ö£ØÓ ö©õzu Á¸Áõ´  2,35,000 

(B) P»¢xøμ ö©õzu ö£ÖuÀPÒ 1,65,000 

(C) AÖøÁ ]Qaø\ Pmhn® 2,50,000 

(D) ÷©Ø£õºøÁ±k Pmhn® 50,000 

(E) ÷|õ¯õÎ°hª¸¢x ö£ØÓ £›_ 30,000 

(F) ©¸¢x öPõÒ•uÀ ö\´ux 1,25,000 

(G) ©¸¢x CÖva \μUQ¸¨¦ 35,000 

(H) ©¸¢x Bμ®£ \μUQ¸¨¦ 10,000 

(I) öuõÈ»õÍºPÐUS Fv¯® 1,50,000 

(J) hõUhº |õμõ¯nß AÁºPÒ uß öuõÈÀ 

\õº¢u AÔÄ vÓøÚ ÷©®£kzxÁuØPõP 

öáº©Û ö\ßÖ P»¢x öPõsh ©¸zxÁ 

P¸zuμ[QØS ö\»Ä ¹.65,000 BS®. 

 

(K) ©¸zxÁ ¦zuP[PÒ öPõÒ•uÀ ö\´ux 20,000 

24. What is best judgement assessment? What are the 
circumstances under which it can be made? On what grants it 
can be cancelled? 

 ªPa ]Ó¢u wº¨¦ ©v¨¦ GßÓõÀ GßÚ? G¢u `Ì{ø»PÎÀ Cx 

÷©ØöPõÒÍ¨£kQÓx? Auß Ai¨£øh°À Cx }UP¨£kQÓx? 

————————— 


